NUCOR TABLE OF CONTENTS

BUILDINGS GROUP

INSIDE CORNER GIRT CONNECTIONS
CJO00S - GIRT TO GIRT DETAIL
CJ1010 - FLUSH FRAMELINE WITH FLUSH GIRTS
CJ1020 - FLUSH FRAMELINE WITH FLUSH & INSET GIRTS
CJ1030 - BYPASS FRAMELINE 1-0 FLUSH GIRT
CJ1040 - BYPASS FRAMELINE 1-1.5 FLUSH GIRT
CJ1050 - BYPASS FRAMELINE 1-4 FLUSH GIRT
CJ1060 - BYPASS FRAMELINE WITH 8 & 9.5 GIRT
CJ1070 - INSET FRAMELINE WITH 8 & 9.5 INSET GIRT
CJ1080 - BYPASS FRAMELINE 1-0 INSET GIRT
CJ1090 - BYPASS FRAMELINE 1-1.5 INSET GIRT
CJ1100 - BYPASS FRAMELINE 1-4 INSET GIRT
CJ1110 - FLUSH FRAMELINE SIMPLE SPAN BYPASS GIRT
CJ1120 - INSET FRAMELINE WITH SIMPLE SPAN BYPASS GIRT
CJ1130 - BYPASS FRAMELINE WITH SIMPLE SPAN BYPASS GIRT
CJ1165 - HOT ROLLED GIRT INTO BYPASS GIRT
CJ1170 - BYPASS GIRT INTO BYPASS GIRT
CJ1220 - BYPASS GIRT INTO BYPASS GIRT
CJ1500 - 8 LAPPED BYPASS GIRT AT 8 INSIDE GIRT
CJ1520 - 8 LAPPED BYPASS GIRT AT 8 INSIDE GIRT
CJ1540 - 9.5 LAPPED BYPASS GIRT INTO 8 INSIDE GIRT
CJ1560 - 9.5 LAPPED BYPASS GIRT INTO 9.5 INSIDE GIRT




NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ0005 - GIRT TO GIRT DETAIL

2“

4" + 2" ‘AT 8" GIRTS
2-3/4"] 4" *2-3/4" lAT 9-1/2" GIRTS
n H n ! n I n

6y 4 2 J'AT12 GIRTS

|
CLIP MK. GCCO02 e / 8" OR 12" GIRT
) (TYP)

_3/ "
1/2"

2" QAT 8"GIRTS

2-3/4'L AT 9-1/2" GIRTS
o 2 LAT 12" GIRTS

0

el — |

-9 —@—

USE THESE CLIP HOLES
FOR 9 1/2" GIRTS

4
4||
8

2"

GIRT TO GIRT DETAIL

GIRT TO GIRT CONNECTION DETAIL
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 C
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS J O 005

Detailer Notes:
1) N/A

Issued : 06.28.22 (MR2022.07) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: BSS


../Certified%20Erection%20Drawings/CED_NBG/CJ0005.dwg

NUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1010 - FLUSH FRAMELINE WITH FLUSH GIRTS

: - e
OB o o g
2 3/ u-.[ 4u ].—2 3 4u O o égi
'r # | I_é_!
/_\/ _____i_ _____
91/2" GIRTS 8" & 12" GIRTS
CENTERLINE OF COLUMN 61/2" 3/4"
T PPN
COLUMN
SHOP WELDED CLIP \
x 8
SHOP WELDED STIFFENER Iy O 4
PER DESIGN x NE
P === =======>5 Z|D
< =3
Lo
= L
(@]
- _‘_ —
SHOP WELDED CLIP ) o S
\ 5 o] ™ E.E
-@————= | mmmmmmm————em——lemme——— ) L e L 4
1/2“}
W e ] e —= e | \—— GIRT ANGLE MK. MAGO1 WITH
. r__d (2) H1020 FASTENERS
n | n | "
I ‘ 4 ‘ 2 |
|
/\L/\
I 8" GIRT
CENTERLINE OF COLUMN 4 4 o STEELLINE (SHOWN
INSIDE CORNER GIRT DETAIL v
SIMILAR)

FLUSH FRAMELINE WITH FLUSH GIRTS
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400 C 1 1
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS J 0 O

Detailer Notes:
1) WELDED "T" CLIP TO COLUMN: GFI102 4) ADD STIFFENER PER DESIGN
2) (2) HOLE WELDED CLIP TO COLUMN FOR 8" GIRT: GRC03 TO WELDED "T" CLIP: WS_04
3) (2) HOLE WELDED CLIP TO COLUMN FOR 9 1/2" GIRT: GRC09

Issued : 06.13.23 (MR2023.07) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CJ1010.dwg

NUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1020 - FLUSH FRAMELINE WITH FLUSH & INSET GIRTS

— N
_____I _____ : l g |
00 N
2 3/4u—! 4u -!-2 3/ " O O égi
¢ ¢ i lo!
/_\/ _____L _____ > -
91/2" GIRTS 8" & 12" GIRTS
CENTERLINE OF COLUMN T 61/2" o ¢ 3
COLUMN
SHOP WELDED CLIP x .
SHOP WELDED STIFFENER _@} B
PER DESIGN ~ ’ =
Q=
< "'ZJ 8
=S
e
SHOP WELDED CLIP © o S
\ 5 sl 7y
-@————= | mmmmmmm————em——lemme——— ) L e L 4 L
1/2"
3/4" I_ _____ Lo @ o | \—— GIRT ANGLE MK. MAGO1 WITH
______________ ~ | (2) H1020 FASTENERS
n | n | n
I : 4 2 |
/\!&/\
| ' \ 8" GIRT
CENTERLINE OF COLUMN ¢ 5 . STEELLNE  (spowN
INSIDE CORNER GIRT DETAIL v
SIMILAR)

FLUSH FRAMELINE WITH FLUSH & INSET GIRTS
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400 CJ 1 020
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) WELDED "T" CLIP TO COLUMN: GFI02 4) ADD STIFFENER PER DESIGN
2) (2) HOLE WELDED CLIP TO COLUMN FOR 8" GIRT: GRC09 TO WELDED "T" CLIP: WS_04
3) (2) HOLE WELDED CLIP TO COLUMN FOR 9 1/2" GIRT: GRC03

Issued : 06.13.23 (MR2023.07) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CJ1020.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1030 - BYPASS FRAMELINE (1'-0") WITH FLUSH GIRT

GIRT CLIP MK. FGCO1
GlRTE
JAMB CLIP MK. HCJO1

GRT;

GIRT

SHOP WELDED CLIP

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

_SECTIONA ~

(1) 1/2" x 1 1/4" BUTTON HEAD
BOLT H0510 / NUT H0400

GIRT

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

SECTION B
SHOP WELDED CLIP

€ COLUMN [ 612" 3/41

H
| z
3
i A-=-— B = 2
o
—— [
SHOP WELDED K 2
STIFFENER _é_"_ )
PER DESIGN =
\a============= | N %
= w
! =
=
O- 7
2 Z

(

TR
s GIRT
o . I JAMB CLIP MK. HCJ01
I— (1) BOLT UP
O O (1) BOLT DOWN
< - JAMB FROM THE BASE ANGLE (OR

CHANNEL) TO THE EAVE STRUT
GIRT CLIP MK. FGCO1

(TOED UP)
/——’-\——\\ GIRT
4 2" AT 8" & 12" GIRTS
2:3/4" AT 9-112" GIRTS
€ COLUMN 10" STEEL LINE
INSIDE CORNER GIRT DETAIL

BYPASS FRAMELINE (1-0") WITH FLUSH GIRT

NOTE: USE (7) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 030
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) WELDED CLIP TO COLUMN: GFl02
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x2
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1030.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1040 - BYPASS FRAMELINE (1'-1 1/2") WITH FLUSH GIRT

GIRT CLIP MK. FGCO1 §
(TOED DOWN AT 8", |
UP AT 9-1/2"

GIRT GIRT

)
|
| SHOP WELDED CLIP
I

JAMB FROM THE BASE ANGLE (OR

CHANNEL) TO THE EAVE STRUT

SECTION A

3 (1) 1/2" x 1 1/4" BUTTON HEAD
! BOLT H0510 / NUT H0400
(AT 9-1/2" GIRT ONLY)

GIRT

JAMB CLIP MK. HCJ01
(AT 9-1/2" GIRT ONLY)

GRT;

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

_SECTION® _

G COLUMN
=4
=
=
Q
(&)
w
SHOP WELDED 2
STIFFENER Q
PER DESIGN —~—__| é
<<
w
=
5
pr
I
=
w
>— =
5 GIRT
= JAMB CLIP MK. HCJ01
- - - (AT 9-1/2" GIRT ONLY)
IN——(1)BOLTUP } (AT 9-1/2"
© p (1) BOLTDOWNS ~ GIRT ONLY)
™ | JAMB FROM THE BASE ANGLE (OR
@ \ CHANNEL) TO THE EAVE STRUT
GIRT CLIP MK. FGCO1
(TOED DOWN AT 8", UP AT 9-1/2")
S S B N
4 2" AT8" & 12" GIRTS
2:3/4" AT 9-112" GIRTS
G COLUMN 1-11/2" STEEL LINE

BYPASS FRAMELINE (1'-1 1/2") WITH FLUSH GIRT

NOTE: USE (7) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 040
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) WELDED CLIP TO COLUMN: GFI02
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x2
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1040.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1050 - BYPASS FRAMELINE (1'-4") WITH FLUSH GIRT

1
GIRT CLIP MK. FGCO1
T ~—
GIRT GIRT
l \
i S SHOP WELDED CLIP
i
I~ JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT
SHOP WELDED CLIP
G COLUMN [ 6112 fw
| .
! 3
! A—— 2
! o
—— e
SHOP WELDED g &
STIFFENER ,@ 8
PER DESIGN —~_| . L%L
| {= =
=
g
.13 5
A e
& GIRT
:r - — — \
JAMB FROM THE BASE
© 9[ " ANGLE (OR CHANNEL)
¥ | TO THE EAVE STRUT
\ GIRT CLIP MK. FGCO1
(TOED DOWN)
~— GIRT
4 2" AT8' & 12" GIRTS
2-3/4" AT 9-12" GIRTS
€ COLUMN 14" STEEL LINE
INSIDE CORNER GIRT DETAIL

BYPASS FRAMELINE (1'-4") WITH FLUSH GIRT

NOTE: USE (6) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 050
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) WELDED CLIP TO COLUMN: GFl02
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x2
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1050.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1060 - FLUSH FRAMELINE WITH 8" & 9-1/2" INSET GIRT

SHOP WELDED CLIP
CENTERLINE OF COLUMN ¢ 61/2" /ii 3/4"

|
COLUMN I
SHOP WELDQ |
STIFFENER O
PER DESIGN —~—__

L
=
—
—
m,
12" ! %
s | e e T L@ —
¥ GIRT ANGLE MK. MAG01 WITH
(2) H1020 FASTENERS
—— SHOP
WELDED
CLIP
% GIRT
CENTERLINE OF COLUMN ¢ 4" . STEEL LINE
INSIDE CORNER GIRT DETAIL

FLUSH FRAMELINE WITH 8" /9-1/2" INSET GIRT
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 C
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS J 1 060

Detailer Notes:

1) T- CLIP WELDED TO COLUMN: GF102

2) (2) HOLE WELDED CLIP 8" GIRT: GRCO03

3) (2) HOLE WELDED CLIP 9 1/2" GIRT: GRC09

4) ADD STIFFENER TO T-CLIP PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1060.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1070 - INSET FRAMELINE WITH 8" & 9-1/2" INSET GIRT

SHOP WELDED CLIP
CENTERLINE OF COLUMN ¢ 61/2" /ii 3/4"

|
COLUMN I
SHOP WELDQ |
STIFFENER O
PER DESIGN —~—__

L
=
—
—
]
1/2" ! %
3/ D N | e N ST I: ______________:_‘ —
\ GIRT ANGLE MK. MAGO1 WITH
(2) H1020 FASTENERS
—— SHOP
WELDED
CLIP
% GIRT
CENTERLINE OF COLUMN o 5 : STEEL LINE
INSIDE CORNER GIRT DETAIL

INSET FRAMELINE WITH 8" /9-1/2" INSET GIRT
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 C
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS J 1 070

Detailer Notes:

1) T- CLIP WELDED TO COLUMN: GF102

2) (2) HOLE WELDED CLIP 8" GIRT: GRC09

3) (2) HOLE WELDED CLIP 9 1/2" GIRT: GRCO03

4) ADD STIFFENER TO T-CLIP PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1070.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1080 - BYPASS FRAMELINE (1'-0") WITH INSET GIRT

GIRT CLIP MK. FGCO1
GlRTE
JAMB CLIP MK. HCJO1

GRT;

GIRT

SHOP WELDED CLIP

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

_SECTIONA ~

(1) 1/2" x 1 1/4" BUTTON HEAD
BOLT H0510 / NUT H0400

GIRT

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

SECTION B
SHOP WELDED CLIP
€ COLUMN [ 61/2" 3/41
vi
i A-— B —
—— N
SHOP WELDED g
STIFFENER .é_.._
PER DESIGN
\a============== | N
~ w
! =
3
o g
—— g e
— e .

(

CHANNEL) TO THE EAVE STRUT
GIRT CLIP MK. FGCO1

& % \ GIRT
o . I JAMB CLIP MK. HCJ01
I— (1) BOLT UP
© O (1) BOLT DOWN
< - JAMB FROM THE BASE ANGLE (OR

(TOED UP)
h,\_—\\ GIRT
4 2" AT 8" & 12" GIRTS
2-3/4" AT 9-112" GIRTS
G COLUMN 1.0" STEEL LINE

INSIDE CORNER GIRT DETAIL

BYPASS FRAMELINE WITH INSET GIRT

NOTE: USE (7) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 080
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) WELDED CLIP TO COLUMN: GFl02
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x2
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1080.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1090 - BYPASS FRAMELINE (1'-1 1/2") WITH INSET GIRT

GIRT CLIP MK. FGCO1 §
(TOED DOWN AT 8", |
UP AT 9-1/2)
GIRT GIRT
|
| SHOP WELDED CLIP
|
JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT
SECTION A
JAME CLIP MK, HCJ01 ?- (1) 112" x 1 1/4" BUTTON HEAD

BOLT H0510 / NUT H0400
(AT 9-1/2" GIRT ONLY)

GIRT

(AT 9-1/2" GIRT ONLY)

GRT;

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

SECTION B
SHOP WELDED CLIP
€ COLUMN [ 612" ,3/41
i
i A= B —
SHOP WELDED g
STIFFENER -
PER DESIGN —~_ |
=<r w
| ‘ =
5
PO m— O+ B
= i} =
w
— - - X
froe) e,
. Y GIRT
= JAMB CLIP MK. HCJ01
- - - (AT 9-1/2" GIRT ONLY)
IN——(1)BOLTUP } (AT 9-1/2"
© p (1) BOLTDOWNS ~ GIRT ONLY)
™ | JAMB FROM THE BASE ANGLE (OR
@ \ CHANNEL) TO THE EAVE STRUT
GIRT CLIP MK. FGCO1
(TOED DOWN AT 8", UP AT 9-1/2")
1 >~ GIRT
4 2" AT8" & 12" GIRTS
2:3/4" AT 9-112" GIRTS
G COLUMN 1-1112" STEEL LINE
INSIDE CORNER GIRT DETAIL

BYPASS FRAMELINE (1-1 1/2") WITH INSET GIRT

NOTE: USE (7) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 090
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) WELDED CLIP TO COLUMN: GFl02
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x2
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1090.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1100 - BYPASS FRAMELINE (1'-4") WITH INSET GIRT

1
GIRT CLIP MK. FGCO1
T ~—
GIRT GIRT
| \
i S SHOP WELDED CLIP
I~ JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT
SHOP WELDED CLIP
G COLUMN [ 6112 e

T
i
|
|
1

SHOP WELDED
STIFFENER

PER DESIGN T

t
_é-.

GIRT

414"

L1
i
i
i
i
i
i
EQ. 4 EQ
STEEL LINE

JAMB FROM THE BASE
© 9[ r ANGLE (OR CHANNEL)
TO THE EAVE STRUT

3/4"

(

GIRT CLIP MK. FGCO1
(TOED DOWN)

/

GIRT

4" 2"AT 8" & 12" GIRTS
2-3/4" AT 9-1/2" GIRTS
€ COLUMN 1-4" STEEL LINE

INSIDE CORNER GIRT DETAIL

BYPASS FRAMELINE (1'-4") WITH INSET GIRT

NOTE: USE (6) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 1 00
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) WELDED CLIP TO COLUMN: GFl02
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x2
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1100.dwg

NUCORN

BUILDINGS GROUP

INSIDE CORNER GIRT DETAILS

WALL SECONDARY

CJ1110 - FLUSH FRAMELINE WITH SIMPLE SPAN BYPASS GIRT

Detailer Notes:

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

' 8" OR 9-1/2" GIRT

GIRT CLIP MK. FGCO1
8"OR 9-1/2" GIRT

SHOP WELDED CLIP
SECTION A
o § (1) 1/2"x 1 1/4" BUTTON HEAD
JAMIB CLIP K. HCAO1 ! BOLT H0510/ NUT H0400
I
8" OR 9-1/2" GIRT ; 8" OR 9-1/2" GIRT
i

H JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

SECTION B
9" AT 8" GIRTS
9-1/2" AT 9-112" GIRTS
SHOP WELDED 334" AT 8" GIRTS
STIFFENER 414" | AT 9112 GIRTS
PER DESIGN —
SHOP WELDED CLIP—
N\ \|r— 8-
11
e é—
i i 8" OR 9-1/2" GIRT
X+ H H
! ! g
=
' 019 g
2 E I
>
; =
= JAMB CLIP MK. HCJ01
—— \
% - JAMB FROM THE BASE ANGLE (OR
@ N CHANNEL) TO THE EAVE STRUT
GIRT CLIP MK. FGCO1
(TOED UP)
/——’-\—\\ 8" OR 9-1/2" GIRT
4 2" AT 8" GIRTS
2-3/4" AT 9-1/2" GIRTS
G COLUMN 4 STEEL LINE
INSIDE CORNER GIRT DETAIL

FLUSH FRAMELINE WITH SIMPLE SPAN BYPASS GIRT

NOTE: USE (8) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 1 1 0
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

1) (4) HOLE WELDED CLIP TO COLUMN: 2) ADD STIFFENER PER DESIGN:
8" - PCUO1 8" GIRT: WS_04
9 1/2" - GCB62 9 1/2" GIRT: WS_04
12" - GCB12 12" GIRT: WS_12
Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x2

Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1110.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP

WALL SECONDARY

CJ1120 - INSET FRAMELINE WITH SIMPLE SPAN BYPASS GIRT

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

' 8" OR 9-1/2" GIRT

GIRT CLIP MK. FGCO1
8"OR 9-1/2" GIRT

WELDED CLIP
SECTION A
o § (1) 1/2"x 1 1/4" BUTTON HEAD
JAMIB CLIP K. HCAO1 ! BOLT H0510/ NUT H0400
I
8" OR 9-1/2" GIRT ; 8" OR 9-1/2" GIRT
i

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

SECTION B

10" AT 8" GIRTS
10-1/2" AT 9-1/2" GIRTS

SHOP WELDED 334" ] AT8'GIRTS
STIFFENER 414" | AT 9-1/2' GIRTS
PER DESIGN

A— B

é. K 8"OR 9-1/2" GIRT
!
|

SHOP WELDED CLIP—-\

31/4" AT 8"GIRTS
33/4" AT 9-1/2" GIRTS

M4

EQ.

STEEL LINE
—

o
-

414"

[N— JAMB CLIP MK. HCJ01
o —off \
> 1 — JAMB FROM THE BASE ANGLE (OR
/ CHANNEL) TO THE EAVE STRUT

GIRT CLIP

MK. FGCO1 —/ S~

(TOED UP) — 8" OR 9-1/2" GIRT

4 2" AT 8" GIRTS
2-3/4" AT 9-112" GIRTS
G COLUMN 5' STEEL LINE

INSIDE CORNER GIRT DETAIL

INSET FRAMELINE WITH SIMPLE SPAN BYPASS GIRT

NOTE: USE (8) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 1 20
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) (4) HOLE WELDED CLIP TO COLUMN: 2) ADD STIFFENER PER DESIGN:
8" - PCUO1 8" GIRT: WS_04
9 1/2" - GCB62 9 1/2" GIRT: WS_04
12" - GCB12 12" GIRT: WS_12
Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x2

Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1120.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1130 - BYPASS FRAMELINE WITH SIMPLE SPAN BYPASS GIRT

JAMB FROM THE BASE ANGLE (OR
CHANNEL) TO THE EAVE STRUT

__
|—8" OR 9-1/2" GIRT

8"OR 9-1/2" GIRT
{ |
I / ﬁ
GIRT CLIP MK. FGCO1

-
SHOP WELDED CLIP
SECTION A
¢ coLumn
SHOP WELDED
STIFFENER
PER DESIGN
SHOP WELDED CLIP
\ A — /— 8" OR 9-1/2" GIRT
I
w

EQ.

L STEEL LINE

\ JAMB FROM THE BASE ANGLE (OR

\CHANNEL) TO THE EAVE STRUT

GIRT CLIP MK. FGCO1
(TOED DOWN)

8"OR 9-1/2" GIRT
4 2" AT8" GIRTS

2:3/4" AT 9-1/2" GIRTS

€ COLUMN STEEL LINE

41/4"

3/4"

INSIDE CORNER GIRT DETAIL

BYPASS FRAMELINE WITH SIMPLE SPAN BYPASS GIRT

NOTE: USE (8) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400 CJ 1 1 30
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) (4) HOLE WELDED CLIP TO COLUMN: 2) ADD STIFFENER PER DESIGN:
8" - PCUO1 8" GIRT: WS_04
9 1/2" - GCB62 9 1/2" GIRT: WS_04
12" - GCB12 12" GIRT: WS_12
Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x2

Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1130.dwg

NUCORN

BUILDINGS G

ROUP

INSIDE CORNER GIRT DETAILS

WALL SECONDARY

CJ1165 - HOT ROLLED GIRT INTO BYPASS GIRT

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE
1/ n
SHOP WELDED
3/4" PLATE
-* @ L
Fl %[ X
= o
E lg g —
E S
o e
/
SHOP WELDED PLATE — |
1 |
AT 8'GIRTS 2" 4" -
¢ .
COLUMN | |
Y AT12'GIRTS _ J] 2" v 8 ¢
a | I
SHOP WELDED @ @
STIFFENER———
——- = | HOT-ROLLED GIRT
W | SHOP WELDED
= o CLIP
Wil & [ SHOP WELDED
e V\/‘ PLATE
OO
STEEL LINE

HOT ROLLED GIRT INTO BYPASS GIRT
NOTE: USE (8) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 C 1 1
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS J 65

Detailer Notes:

1) (4) HOLE WELDED CLIP TO COLUMN:

8" - GCM04
12"- GCB12

2) (4) HOLE PLATE WELDED TO HR GIRT:

8" - HCDO08

/12" - HCD12

3) (2) HOLE WELDED CLIP TO HR GIRT:
8" - HCS08 / 12" - HCS12

4) SHOP WELDED STIFFENER:

8" - GCM04 STIFFENER: WS_04

12" - GCB12 STIFFENER: WS_12

Revised : 01.25.2
RevisedBy : SDF

1 (MR2021.02)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CJ1165.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1170 - BYPASS GIRT INTO BYPASS GIRT

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE
172"
’—
t I3 n
o < | oo
! =
o = oy S -
) = b @t —o— 909
w S |
a) 2] i i Y W =
'n_c (T (1) i
© @-—— @@— ——— o
<
. : N\ — ey
w
AT 8' GIRTS 2 o & g2 GIRT Y o 'E_?D 2
COLUMN ATS1/2 GIRTS @234y 4 o234 S 3 & &
] ATIZGRTS o2 o 8 42 bl B o &
Aj ! ! H e =
SHOP WELDED | | I\C/ILKIPGCCOZ
STIFFENER _@____@ :
PER DESIGN———— HOP WELDED CLIP
——- J==—===k==========a //_S O C
W GIRT
Z < _ ____@
r:?'% /
o
= O /—\/
LU L
O|O

STEEL LINE

INSIDE CORNER GIRT DETAIL

BYPASS GIRT INTO BYPASS GIRT
NOTE: USE (8) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400 C 1 1
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS J 70

Detailer Notes:

1) SHOP WELDED CLIP: 2) ADD STIFFENER PER DESIGN:
8" GIRT = PCU01 8" GIRT: WS_04
9-1/2" GIRT = GCB62 9 1/2" GIRT: WS_04
12" GIRT = GCB12 12" GIRT: WS_12
Issued : 05.24.23 (MR2023.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CJ1170.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1220 - BYPASS GIRT INTO BYPASS GIRT

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE
COLUMN
2l o / SHOP WELDED
I STIFFENER
= N PER DESIGN
o| & N SHOP WELDED CLIP
= = =
<C <C <C =
- =0—@—— i I
ol 3 A I i
-9 —o @D :: @}i
! I
_ _ _ 1] |
T | i i
] N
] |
OO oG
N - I -
DA B 112" 1]
% 3/4" 3/4" 3 o W7
E ”— GIRT NI
® CLIP MK. GCC02
LT~ | GIRT
|
2" 4" 2" n
’ , ‘AT 8" GIRTS
2-3/4'1 4" ‘2 3/4" AT 9-1/2" GIRTS
|
6" + 4" 2" ‘AT12"GIRTS
CENTERLINE OF COLUMN . l STEEL LINE
| |

BYPASS GIRT INTO BYPASS GIRT
NOTE: USE (6) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 C
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS J 1 220

Detailer Notes:

1) SHOP WELDED CLIP TO COLUMN: 2) ADD STIFFENER PER DESIGN:
8" - PCUO1 8" GIRT: WS_04
9 1/2" - GCB62 9 1/2" GIRT: WS_04
12" - GCB12 12" GIRT: WS_12
Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1220.dwg

NUCORN

BUILDINGS GROUP

INSIDE CORNER GIRT DETAILS

WALL SECONDARY
CJ1500 - 8" LAPPED BYPASS GIRT AT 8" INSIDE CORNER GIRT
#%  USE (1) 1/2" X 1 1/4" BUTTON HEAD BOLT H0510 / NUT
HO400 AT THIS LOCATION. REFER TO THE "LAPPED
GIRT DETAIL" FOR ADDITIONAL INFORMATION.
1-3 3/4" 1-3 3/4"
" ¢ 11/2" ¢ "
3/ ™ 1v| "k ‘4/3/
8" GIRT b i
N\ ]| — L o,
| B | .
W "\@ :!: | -
] @@ _____________ B 7 N < N I i\
SHOPWELDED | ™ _:ﬁ_ |
STIFFENER ' " ' ' .
PER DESIGN i i'i | ™~ SHOP WELDED | ~
I I | I L
| P CLIP | =
| —
& —E@@—G@ —————— — —T—@‘.— --------- —Qi——*d
= | | | | ! - L
- . | e Rt - - [ ~|
‘ _-::!::::::::::=i:: ! _"_'
- | 3/4"
;rI'_' N % ''''' é | {1"}_ _______ AT ANY GIRT LAP
& | | CLIP | GREATER THAN
i i MK Gcco2 | 1.3 3/4", THE DETAIL
8" GIRT ! | ©—-@e-—66+-9 WILL BE AS SHOWN
o e |y | j e L\ ATLEFT.
G * | o ___of
STEEL LINE + 14" # O O
¢ COLUMN
INSIDE CORNER GIRT DETAIL Ho D oPPosTE
RIGHT HAND OPPOSITE

8" LAPPED BYPASS GIRT AT 8" INSIDE CORNER GIRT
NOTE: USE (11) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

(_CJ1500 )

Detailer Notes:

1) SHOP WELDED CLIP: 8" GIRT = PCU01
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003)
Issued By: EGB

CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CJ1500.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1520 - 8" LAPPED BYPASS GIRT AT 9-1/2" INSIDE CORNER GIRT (SHOP WELDED CLIP)

*%  USE (1) 1/2" X1 1/4" BUTTON HEAD BOLT H0510 / NUT
H0400 AT THIS LOCATION. REFER TO THE "LAPPED
GIRT DETAIL" FOR ADDITIONAL INFORMATION.

L 4
34n - (SEE ELEVATION) (SEE ELEVATION) 34

" " 11/2" o
8" GIRT —\'X? T—4ZT |
— |

¢ GIRT LAP GIRT LAP ¢

@ SHOP WELDED i | |
| LR DESION " SHOP WELDED | ~
' | CLIP | =
| - 5
s |9foo—cbl ool ~O 9
i ! | b F-——- 4 | N B
o D |
e !
3 ' ' |
& | | CLIP -
i i MK. GCC02 !
9-1/2" GIRT ! | |
| " " " i
?2-3/4 4 ¢2-3/4 :
STEELLINE : 14"
. .
¢ COLUMN
LEFT HAND DETAIL SHOWN,
INSIDE CORNER GIRT DETAIL RIGHT HAND OPPOSITE

8" LAPPED BYPASS GIRT AT 9-1/2" INSIDE CORNER GIRT
NOTE: USE (11) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 520
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) SHOP WELDED CLIP: 8" GIRT = PCU01
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1520.dwg

NUUCOR INSIDE CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CJ1540 - 9-1/2" LAPPED BYPASS GIRT AT 8" INSIDE CORNER GIRT (SHOP WELDED CLIP)

*%  USE (1) 1/2" X1 1/4" BUTTON HEAD BOLT H0510 / NUT
H0400 AT THIS LOCATION. REFER TO THE "LAPPED
GIRT DETAIL" FOR ADDITIONAL INFORMATION.

. 1.3 314" 13 314"
" 11/2"
3/ ™ 1"

9-1/2"GIRT—\ 4
||

*%

SHOP WELDED Lo y i !
STIFFENER "
PER DESIGN I ' H ' NSHOP WELDED !
! | i | ! w
L | CLIP =
o {{oo—ool——f0 O ———— —O )<t
= 1 | | | L
~ H ! ______ i ______ 5
‘ _'ZZ!:=========:|== i ==
é - | 3/4"
;rI'_' Y é | é'}_ _______ AT ANY GIRT LAP
R | | CLIP | GREATER THAN
| - | 1-3 3/4", THE DETAIL
| | MK.GXC_ |
8" GIRT | | ‘©—1-©e-—e0--— WILL BE AS SHOWN
o e |y L j oL\ ATLEFT.
? ¢ 4 i _6____8_
STEELLINE | 14"
+ | [l
€ COLUMN
LEFT HAND DETAIL SHOWN,
INSIDE CORNER GIRT DETAIL RIGHT HAND OPPOSITE

9-1/2" LAPPED BYPASS GIRT AT 8" INSIDE CORNER GIRT
NOTE: USE (11) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 CJ 1 540
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) SHOP WELDED CLIP: 9-1/2" GIRT = GCB62
2) ADD STIFFENER PER DESIGN: WS_04

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CJ1540.dwg

NUCORN

BUILDINGS GROUP

INSIDE CORNER GIRT DETAILS

WALL SECONDARY
CJ1560 - 9-1/2" LAPPED BYPASS GIRT AT 9-1/2" INSIDE CORNER GIRT (SHOP WELDED CLIP)
#%  USE (1) 1/2" X 1 1/4" BUTTON HEAD BOLT H0510 / NUT
HO0400 AT THIS LOCATION. REFER TO THE "LAPPED
GIRT DETAIL" FOR ADDITIONAL INFORMATION.
GIRT LAP ) GIRT LAP *
\ (SEE ELEVATION) (SEE ELEVATION) \
3/4 11/2" -3/
*% olo
9-1/2" GIRT T—Z’ZT i
| e —1 ; —o
| SR ENIE
- N | &
e we— O+ O —O—*
| SHOPWELDED | | A i | |
| STIFFENER | i =
| SER DESIGN o | i I~~~ SHOP WELDED | N
' | " | CLIP | =
! =
& é—-@@—-e@- —-—— JQJL@%— --------- —Di——*
~ ! | | ! = L
- , I L | 5| =
L - | )
‘ ::I :::::::::1:: i _"_"
o D |
rgo-gh
3 ' ' |
& | | CLIP -
| | MK.GXC_ |
9-1/2" GIRT ! | i
| 234" UL '
* . |
STEEL LINE + 14" #
¢ COLUMN
INSIDE CORNER GIRT DETAIL LEET HAND DETALL SHOWN,
RIGHT HAND OPPOSITE

9-1/2" LAPPED BYPASS GIRT AT 9-1/2" INSIDE CORNER GIRT
NOTE: USE (11) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) SHOP WELDED CLIP: 9-1/2" GIRT = GCB62
2) ADD STIFFENER PER DESIGN: WS_04

(_CJ1560 )

Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS

Issued By: EGB

Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CJ1560.dwg

	TABLE OF CONTENTS
	INSIDE CORNER GIRT CONNECTIONS
	CJ0005 - GIRT TO GIRT DETAIL
	CJ1010 - FLUSH FRAMELINE WITH FLUSH GIRTS
	CJ1020 - FLUSH FRAMELINE WITH FLUSH & INSET GIRTS
	CJ1030 - BYPASS FRAMELINE 1-0 FLUSH GIRT
	CJ1040 - BYPASS FRAMELINE 1-1.5 FLUSH GIRT
	CJ1050 - BYPASS FRAMELINE 1-4 FLUSH GIRT
	CJ1060 - BYPASS FRAMELINE WITH 8 & 9.5 GIRT
	CJ1070 - INSET FRAMELINE WITH 8 & 9.5 INSET GIRT
	CJ1080 - BYPASS FRAMELINE 1-0 INSET GIRT
	CJ1090 - BYPASS FRAMELINE 1-1.5 INSET GIRT
	CJ1100 - BYPASS FRAMELINE 1-4 INSET GIRT
	CJ1110 - FLUSH FRAMELINE SIMPLE SPAN BYPASS GIRT
	CJ1120 - INSET FRAMELINE WITH SIMPLE SPAN BYPASS GIRT
	CJ1130 - BYPASS FRAMELINE WITH SIMPLE SPAN BYPASS GIRT
	CJ1165 - HOT ROLLED GIRT INTO BYPASS GIRT
	CJ1170 - BYPASS GIRT INTO BYPASS GIRT
	CJ1220 - BYPASS GIRT INTO BYPASS GIRT
	CJ1500 - 8 LAPPED BYPASS GIRT AT 8 INSIDE GIRT
	CJ1520 - 8 LAPPED BYPASS GIRT AT 8 INSIDE GIRT
	CJ1540 - 9.5 LAPPED BYPASS GIRT INTO 8 INSIDE GIRT
	CJ1560 - 9.5 LAPPED BYPASS GIRT INTO 9.5 INSIDE GIRT


